
1,	Jim	purchases	2-years	$1,000	par	value	bonds	with	a	9percent	coupon	rate	paid	
annually	and	a	12	percent	yield	to	maturity.	Jim	will	hold	the	bonds	until	maturity.	Thus,	
what	is	the	bond	current	price?	
	
N	=	2	years	
FV	=1,000	C	is	less	than	discount	factor	P	is	less	than	FV	
C	=	0,09	p.a.	
I	=	0,12	p.a.		
	
Price	=	PV	of	all	future	CFs	
	
Pattern	of	CFs	
	
time	 0	 1	year		 2	year			 	
CF	 P=?	 90	 	 90	+	1000	 	 	 	
	
	

𝑃! =	$
𝐶𝐹"

(1 + 𝑖)"

#

"$%

=
90

(1 + 0,12)% +
90 + 1000
(1 + 0,12)#	

	

𝑃! = 	𝐴 ∗
1 − (1 + 𝑖)&'

𝑖 +
𝐹𝑉

(1 + 𝑖)' = 90 ∗
1 − (1 + 0,12)&#

0,12 +
1000

(1 + 0,12)#	

	
𝑷𝟎 = 	𝟏𝟓𝟐, 𝟏𝟎𝟒𝟔 + 𝟕𝟗𝟕, 𝟏𝟗𝟑𝟗 = 𝟗𝟒𝟗, 𝟐𝟗𝟖𝟓	

	
Or,	

𝑃! =
90

1 + 0,12 +
90

(1 + 0,12)# +
1000

(1 + 0,12)#	

	
	
	

𝑷𝟎 = 	𝟖𝟎, 𝟑𝟓𝟕𝟏 + 𝟕𝟏, 𝟕𝟒𝟕𝟒 + 𝟕𝟗𝟕, 𝟏𝟗𝟑𝟗 = 𝟗𝟒𝟗, 𝟐𝟗𝟖𝟒	
	
2,	A ten-year, inflation-indexed bond has a par value of $10,000 and a coupon rate of 5 
percent. During the first six months since the bond was issued, the inflation rate changed 
about 2 percent. Based on this information, the coupon payment after six months will be 
$____. 
	
FV	=	10,000	
C	=	0,05	–	0,025	p.s.	
Inflation	rate	=	0,02	p.s.		
	
Next	FV	=FV*(1+inflation	rate)=	10,000*(1,02)=10,200	
Coupon	=	0,025*10,200	=	255	
	For	a	non=	inflation	protected	security	-	coupon	=	0,025	*10,000	=	250	
	



3,	A	bond	with	a	$1,000	par	value	has	an	8	percent	annual	coupon	rate.	It	will	mature	in	
4	years,	and	annual	coupon	payments	are	made	at	the	end	of	each	year.	Present	annual	
yields	on	similar	bonds	are	6	percent.	What	should	be	the	current	price?	
	
N	=	4	years	
FV	=1,000	
C	=	0,08	p.a.	
I	=	0,06	p.a.		
	
Price	=	PV	of	all	future	CFs	
	
Pattern	of	CFs	
	
time	 0	 1	year		 2	year			 3	year		 4	year	
CF	 P=?	 80	 	 80	 	 80	 	 80	+	1000	 	 	
	
		

𝑃! =	$
𝐶𝐹"

(1 + 𝑖)"

)

"$%

=
80

(1 + 0,06)% +
80

(1 + 0,06)# +
80

(1 + 0,06)* +
80 + 1000
(1 + 0,06))	

	
	

𝑃! = 	𝐴 ∗
1 − (1 + 𝑖)&'

𝑖 +
𝐹𝑉

(1 + 𝑖)' = 80 ∗
1 − (1 + 0,06)&)

0,06 +
1000

(1 + 0,06))	

	
𝑷𝟎 = 	𝟐𝟕𝟕, 𝟐𝟎𝟖𝟒 + 𝟕𝟗𝟐, 𝟎𝟗𝟒 = 𝟏𝟎𝟔𝟗, 𝟑𝟎	

	
4,		A	bond	with	a	ten	percent	coupon	rate	bond	pays	interest	semi-annually.	Par	value	is	
$1,000.	The	bond	has	three	years	to	maturity.	The	investors'	required	rate	of	return	is	
12	percent.	What	is	the	present	value	of	the	bond?	
	
N	=	3	years	–	6	semi-annual	periods	
FV	=1,000	
C	=	0,1	p.a.	–	0,05	p.s.	
I	=	0,12	p.a.	–	0,06	p.s.	
	
Price	=	PV	of	all	future	CFs	
	
Pattern	of	CFs	
	
time	 0	 1	period	 2	period		 3	period	 	……	 	 6	period	
	 	
CF	 P=?	 50	 	 50	 	 50	 	 …..	 	 50	+	1000	
	 	
	
		

𝑃! =	$
𝐶𝐹"

(1 + 𝑖)"

+

"$%

=
50

(1 + 0,06)% +
50

(1 + 0,06)# +
50

(1 + 0,06)* +⋯+
50 + 1000
(1 + 0,06)+	



	
	

𝑃! = 	𝐴 ∗
1 − (1 + 𝑖)&'

𝑖 +
𝐹𝑉

(1 + 𝑖)' = 50 ∗
1 − (1 + 0,06)&+

0,06 +
1000

(1 + 0,06)+	

	
𝑷𝟎 = 	𝟐𝟒𝟓, 𝟖𝟔𝟔𝟐 + 𝟕𝟎𝟒, 𝟗𝟔𝟎𝟓 = 𝟗𝟓𝟎, 𝟖𝟐𝟔𝟖	

	
5,	Zero	coupon	bonds	with	a	par	value	of	$1,000,000	have	a	maturity	of	10	years,	and	a	
required	rate	of	return	of	9	percent.	What	is	the	current	price?	
	
N	=	10	years		
FV	=1.000.000	
C	=	0	p.a.	
I	=	0,09	p.a.		
	
Price	=	PV	of	all	future	CFs	
	
Pattern	of	CFs	
	
time	 0	 1	year		 2	year		 3	year		……	 	 	 10	year	
	 	
CF	 P=?	 0	 	 0	 	 0	 	 …..	 	 1.000.000	 	
	
		

𝑃! =	$
𝐶𝐹"

(1 + 𝑖)"

%!

"$%

=
0

(1 + 0,09)% +
0

(1 + 0,09)# +
0

(1 + 0,09)* +⋯+
0 + 1000000
(1 + 0,09)%! 	

	
	

𝑃! = 	𝐴 ∗
1 − (1 + 𝑖)&'

𝑖 +
𝐹𝑉

(1 + 𝑖)' = 0 ∗
1 − (1 + 0,09)&%!

0,0 +
1000000

(1 + 0,09)%!	

	
𝑷𝟎 = 	𝟎 + 𝟒𝟐𝟐. 𝟒𝟏𝟎, 𝟖𝟎𝟔𝟗 = 𝟒𝟐𝟐. 𝟒𝟏𝟎, 𝟖𝟎𝟔𝟗	

	
6,	A	bond	with	a	12	percent	quarterly	coupon	rate	has	a	yield	to	maturity	of	16	percent.	The	
bond	has	a	par	value	of	$1,000	and	matures	in	20	years.	Based	on	this	information,	a	fair	price	of	
this	bond	is	$____.	
	
	
N	=	20	years	–	80	quartes		
FV	=1.000	
C	=	0,12	p.a.	–	0,03	p.	q.	
I	=	0,16	p.a.	–	0,04	p.q.		
	
Price	=	PV	of	all	future	CFs	
	
Pattern	of	CFs	
	



time	 0	 1	period	 2	period		 3	period	 	……	 	 80	period	
	 	
CF	 P=?	 30	 	 30	 	 30	 	 ..…	 	 30	+1.000		 	
	
		

𝑃! =	$
𝐶𝐹"

(1 + 𝑖)"

,!

"$%

=
30

(1 + 0,04)% +
30

(1 + 0,04)# +
30

(1 + 0,04)* +⋯+
30 + 1000
(1 + 0,04),!	

	
	

𝑃! = 	𝐴 ∗
1 − (1 + 𝑖)&'

𝑖 +
𝐹𝑉

(1 + 𝑖)' = 30 ∗
1 − (1 + 0,04)&,!

0,04 +
1000

(1 + 0,04),!	

	
𝑷𝟎 = 	𝟕𝟏𝟕, 𝟒𝟔𝟏𝟖	 + 𝟒𝟑, 𝟑𝟖𝟒 = 𝟕𝟔𝟎, 𝟖𝟒𝟔𝟏	

	
	


